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run_13094081 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13094081 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13094081 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13094081 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13094081 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13094081 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13094081 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
Tue Apr 3 22:11:16 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

RMS (ADC-ped)

220
200
180

160 [
140

120
100
80
60
40
20
0

°'IH|1H

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=1 }

RMS (ADC-ped)

200
180

160

140

120
100 E
80 |

60
40
20

0

=

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

RMS (ADC-ped)

250

i i i
80 100 120
APV channel

RMS (ADC-ped)

220 p——

200 |

180 =

160
F—

140 E

120
100
80

60 p—=
40 |

20

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=4 "}

RMS (ADC-ped)

220 P=

200 =

180 f

160
140
120
100

80

=
60
40 b—

20
0

120
APV channel
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run_13094081 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
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run_13094081 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Tue Apr 322:11:22 2012
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run_13094081 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Tue Apr 3 22:08:59 2012
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run_13094081 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Tue Apr 3 22:11:24 2012
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run_13094081 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
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run_13094081 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Tue Apr 322:10:49 2012
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run_13094081 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
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run_13094081 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
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run_13094081 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB
Tue Apr 3 22:10:50 2012
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run_13094081 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Tue Apr 3 22:11:25 2012
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run_13094081 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Tue Apr 3 22:09:09 2012
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run_13094081 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Tue Apr 3 22:10:52 2012
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run_13094081 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Tue Apr 322:11:26 2012
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run_13094081 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA

Tue Apr 3 22:09:11 2012
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run_13094081 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
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run_13094081 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Tue Apr 322:11:26 2012

[CADC RMS for RDO=1,ARM=4,APV=0_}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=4,APV=1 }

200

180

160

RMS (ADC-ped)

140 [£
120 =
100
80 |

60 K

40

20

0
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=2 "}

RMS (ADC-ped)

NN
120
APV channel

[CADC RMS for RDO=1,ARM=4,APV=3__}

200
180
160

RMS (ADC-ped)

140
120

100

80

60

T |-|1|!r|1| l I'I]IH]HI

40

20

=
0

i
120
APV channel

0

[ ADC RMS for RDO=1,ARM=4,APV=4 "}

350

300

RMS (ADC-ped)

250

200

150

100

50

i
120
APV channel

0

°'I111|HH[I‘I‘I'I 1I|I|HI‘I'|111I|IHT|‘I




run_13094081 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Tue Apr 322:09:16 2012

[ADC for FGT RDO=1,ARM=4,APV=5 } [ ADC for FGT RDO=1,ARM=4,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=6 } [ ADC for FGT RDO=1,ARM=4,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=4,APV=7 } [ ADC for FGT RDO=1,ARM=4,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=8 } [ ADC for FGT RDO=1,ARM=4,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=9 } [ ADC for FGT RDO=1,ARM=4,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5DA

5,asmb

iIsc=

2,D

In=

imeb

Tue Apr 322

run_13094081_FGT_MPV_1,T

10:53 2012

TARM=4,APV=5_}

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=6 |}

ARM=4,APV:

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7}

ARM=4,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=4,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=4,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13094081 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Tue Apr 3 22:11:27 2012

[ADC RMS for RDO=1,ARM=4,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=4,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13094081 FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB

Tue Apr 3 22:09:17 2012

[ ADC for FGT RDO=1,ARM=4,APV=12 |

1000 2000 3000 4000
raw ADC

[[_ADC for FGT RDO=1.ARM=4.APV=13 |

0 1000 2000 3000 4000
raw ADC

[ ADc for FoT RDO=1.ARM=2.APV=14__ ]
—

1000 2000
raw ADC

ADC for FGT RDO=1,ARM=4,APV=15

1000 2000 3000 4000
raw ADC

[L_ADC for FGT RDO=1,ARM=4,APV=16 _}

3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=4,APV=12_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

10

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=13 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

10°

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=14 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

10°

20 40 60 80 100 120
APV channel

[[ADC for FGT

Py
]

O=1,ARM=4,APV=15_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

10

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=16 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

10

APV channel




run_13094081 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Tue Apr 322:10:53 2012

[ADC MPV for RDO=1ARM=4,APV=12_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




=5AB

5,asmb

In=2,Disc=

27 2012

b

ime
11

Tue Apr 322

run_13094081_FGT_RMS_1,T

TARM=4,APV=12_}

[CADC RMS for RDO

120

(pad-0av) sy

APV channel

1,ARM=4,APV=13 "}

[ ADC RMS for RDO:

120

____.iq:_._:"__:“:___

1]

E_:_.o

9 9 2 o 9 g9
® & I & & &
= R

(pad-0av) sy

=)
<

o o
«

APV channel

APV=14_}

=4

1,ARM

[ ADC RMS for RDO:!

i
120

(pad-Dav) SWy

APV channel

TARM=4,APV=15_}

[CADC RMS for RDO

(pad-0av) sy

120

100

60

APV channel

1,ARM=4,APV=16 |}

[ ADC RMS for RDO

o _____:—_:_._:

=

o9 9 2 2 9 9 9 o
® ®© § & & ® ©
EET= S

(pad-0av) sy

120

100

60

APV channel



run_13094081 FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB

Tue Apr 3 22:09:22 2012

ADC for FGT RDO=1,ARM=4,APV=17

3000

raw ADC

ADC for FGT RDO=1,ARM=4,APV=18

3000 40(

raw ADC

FGT RDO=1 ARM=4,APV=19
—

i
3000 4000
raw ADC

FGT RDO=1,ARM=4,APV=20

3000 4000

raw ADC

FGT RDO=1,ARM=4,APV=21

Ag(}ped

3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=4,APV=17_}

ADC-ped

4000

4000

10
3500

3000

2500

2000

1500

1000

500

e -

0

N
NE-H

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=18 "}

ADC-ped

4000

3500

3000

2500

2000

1000

500

0

10

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
=
=
0

" " 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=19 }

ADC-ped

4000

3500
10
3000
2500
2000
1500

1000

500

0

20 40 60 80 100 120
APV channel

[[ADC for FGT

Py
]

O=1,ARM=4,APV=20 }

ADC-ped

4000

3500

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0 10°

° nrann|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=21 }

ADC-ped

4000

3500 10

3000

2500

2000

1500

1000
500

0

aildEINTERIAGNATGRAARNAGRARRIATENATENATENAG]
= =
© X

APV channel




run_13094081 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Tue Apr 3 22:10:54 2012

[ADC MPV for RDO=1ARM=4,APV=17

MPV (ADC-ped)

-500

. . i
Q 20 40 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

120
APV channel

[ADC MPV for RDO=1,ARM=4,APV=19 _}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=4,APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
O 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=21 "}

MPV (ADC-ped)

1500

1000

500

-500

20 a0 0 a0 100 120
APV channel




run_13094081 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Tue Apr 322:11:28 2012

[ADC RMS for RDO=1,ARM=4,APV=17 _}
B I

250 [+

RMS (ADC-ped)

200 [

150

100 [

50

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=18 "}
250

200 [

RMS (ADC-ped)

150 |
100 |-

50 [

[ ADC RMS for RDO=1,ARM=4,APV=19 |

2 T
18 f=
16 =

RMS (ADC-ped)

—
14 E
12 [

1=

08 =
0.6 =
0.4
=
02 = :
= i i i i i i
0 20 40 60 80 100 120
APV channel

250 [

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=21 "}

F—

RMS (ADC-ped)

i
120
APV channel




run_13094081 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 3 22:09:26 2012

[ADC for FGT RDO=2,ARM=0,APV=0 } [ ADC for FGT RDO=2,ARM=0,APV=0 |

= 4000 p—
5] =
i =
Q 3500 f=—
< =
3000 p= 10
=
2500 =
=
2000 =
=
1500 = 1
1000 =
=
500 =
=
=
0 = 10"
| [ = i i i i i i
2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=1 } [ ADC for FGT RDO=2,ARM=0,APV=1 "}
- 4000 p— - - = T T 10°
5 =
9 3500 === {{- bl - 1-
< =
3000 f=—---{{--ff-F - 1-
2500 f—r-- - {{-- -} |- - -
= 10
2000 f=——---{{--tb-F-|--1-
=
1500 == ---{1- -t} -l - 1-
=
1000 p=— - - - {{- -} - o] - -
= 1
500 p=—---11--tF-F |- 1-
=
o f=— A==t} -1-
= . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 2 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=2 } [ ADC for FGT RDO=2,ARM=0,APV=2 "}
4000
B = . . . . . . 10°
g = 2 2 2 2 2 2
Q 3500 f=—
= =
3000 f=—
2500 =
= 10
=
2000 f=——
=
1500 f=——
1000 fP=——
= 1
500 f=—
=
=
= i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=3 } [ ADC for FGT RDO=2,ARM=0,APV=3 |
o === = 4000 p—
3 5] = . . .
2 o =
4] Q 3500 f—
[a}
€ < = 102
3000 =
2500 =
102 =
2000 =
= 10
1500 =
10 1000 P=
=
=
500 =
= 1
0=
=
= 1
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=0,APV=4 } [ ADC for FGT RDO=2,ARM=0,APV=4 "}
e .- 4000
5]
&
9 3500 10
<
3000
2500
2000 .
1500
1000
500 10t
0 e e o s
. . . i . .

2000 3000 40(
raw ADC

60 80

APV channel



run_13094081 FGT _MPV_1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 3 22:10:55 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13094081 FGT _RMS 1,Timebin=2,Disc=1,asmb=1BC

Tue Apr 3 22:11:29 2012

[CADC RMS for RDO=2,ARM=0,APV=0_ J

160

140

RMS (ADC-ped)

120

100

80

CCECCCEEEEEEEEE]
TrrrrrrrrrTT Illr.l—

60

40

20

[ ADC RMS for RDO=2,ARM=0,APV=1 "}

APV channel

160
140
h—

120 p—

RMS (ADC-ped)

100

80

60

40

20

0

[ ADC RMS for RDO=2,ARM=0,APV=2 "}

APV channel

RMS (ADC-ped)

. . i
20 40 60 80 100 120

APV channel

140 [+

120 |r
—

RMS (ADC-ped)

100
80 |
60
aw B

20

0

[ ADC RMS for RDO=2,ARM=0,APV=4 "}

i i
20 40 60 80 100 120
APV channel

RMS (ADC-ped)

20 40 60 80 100 120
APV channel




run_13094081 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 3 22:09:30 2012

[ADC for FGT RDO=2,ARM=0,APV=5 }

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=0,APV=6 }

1000 2000 3000 40(
raw ADC

[ADC for FGT RDO=2,ARM=0,APV=7 }

1000 2000 3000 40(
raw ADC

[ADC for FGT RDO=2,ARM=0,APV=8 }

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=0,APV=9 }

2000 3000 40(
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=2,ARM=0,APV=6 }

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=2,ARM=0,APV=7 }

APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—

% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel

[ADC for FGT RDO=2,ARM=0,APV=8

- 4000 p—
5] = . . .
o = 2
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0

20 40

[ ADC for FGT RDO=2,ARM=0,APV=9 "}

60 80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.. o) sl El.d Wl

10°

10

10

10

10°




run_13094081 FGT _MPV_1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 3 22:10:57 2012

[ADC MPV for RDO=2,ARM=0,APV=5__}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=9 "}

MPV (ADC-ped)

1500

1000

500

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

PRTTTT [-m-r]-'-1-|-|-|-|-|-r1-[1-r




run_13094081 FGT _RMS 1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 322:11:30 2012

[CADC RMS for RDO=2,ARM=0,APV=5__}

RMS (ADC-ped)

200
180
160
140

120

100 [

80

60

40 [

20

=
0 20 40 60 80 100 12
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=6 }

RMS (ADC-ped)

240
220
200
180
160
140
120
100

80

60 pP=
40 =

=
20 E

0

1
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=7 }

RMS (ADC-ped)

180
160 f—=
140 =

120 f¢

100

80 |

60

40

20

0

1
120
APV channel

RMS (ADC-ped)

200

180 f—

160

140

120 =
100 =
80
60 [
a0 f=

20

0

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=9 "}

RMS (ADC-ped)

220
200

180 P=
160 f=——

140
120
100

80

60 =

40
20
0

APV channel




run_13094081 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Tue Apr 3 22:09:35 2012

ADC for FGT RDO=2,ARM=0,APV=12 _§

[[ADC for FGT RDO=2,ARM=0,APV=12_}

= 4000
5]
o
Q 3500 .-
<
3000 °s 10
2500 -
2000 -
1500 - 1
1000 .
500 .-
0 = 10%
1000 2000 3000 4000
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=0,APV=13 | [ ADC for FGT RDO=2,ARM=0,APV=13 "}
- 4000 p—
g =
Q 3500 f—
< =
3000 f=—
= 10
2500 fm—
2000 fm/——
=
1500 f=—
= 1
1000 p=——
=
500 f—
=
°E 10"
E_. . . i . i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=0,APV=14 } I ADC for FGT RDO=2,ARM=0,APV=14 l
- - 4000 p—=
3 g E . . . . . .
& o o 2 g = 2 2 2 2 2 2
%) =
& Q 3500 f=
< < =
3000 fF=— 10
=
2500 =
=
2000 f=——
=
1500 E— 1
1000 fP=——
=
500 f=—
=
M= 107
: = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=0,APV=15 | [ ADC for FGT RDO=2,ARM=0,APV=15 |
- 4000 p—
5] = . . .
o = 2
Q 3500 F=—
< =
3000 f/— 10
2500 =
2000 f=—
=
1500 f=—— 1
1000 f=——
=
500 f[=—
=
0= 10"
=
=
1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2.ARM=0.APV=16 | [ ADC for FGT RDO=2,ARM=0,APV=16 }
.- 4000 p—
5] = . . . . . .
o =
9 3500 f/—-{{-1-
2 =
3000 f=—-11-1-
2500 f=— - 20
=
2000 f=— -
=
1500 f=— -
= 1
1000 p=— -
=
500 f— -
=
oE—
= a a a n H H -1
= i . i i i i i . 10
3000 40 0 20 40 60 80 100 120

raw ADC

APV channel



run_13094081 FGT MPV_1,Timebin=2,Disc=1,asmb=1CD

Tue Apr 3 22:10:58 2012

[ADC MPV for RDO=2,ARM=0,APV=12_}

MPV (ADC-ped)

20 40 60 80

i i
100 120

-500

[ ADC MPV for RDO=2,ARM=0,APV=13 "}

APV channel

MPV (ADC-ped)

DG 20 40 60 )

[ ADC MPV for RDO=2,ARM=0,APV=14 "}

100 120
APV channel

MPV (ADC-ped)

20 40 60 80

i i
100 120

-500

APV channel

MPV (ADC-ped)

-500 20, 40 60, 80

[ ADC MPV for RDO=2,ARM=0,APV=16 }

i
100 120
APV channel

MPV (ADC-ped)

-500 " " " " " " " "
20 40 ) a0

100 120
APV channel




run_13094081 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
Tue Apr 322:11:32 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

RMS (ADC-ped)

400

350

300
250 |

200

150

100

50

0

i
120
APV channel

RMS (ADC-ped)

90

80

70

60

50

40

30

20

10

0

1
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=14 "}

RMS (ADC-ped)

100
80 [+
60 |-

40 |+

20 -

RMS (ADC-ped)

100 [

60 [+

80 |-

40 [r
[

20 [+

APV channel

| ADC RMS for RDO=2,ARM=0,APV=16 }

RMS (ADC-ped)

120

100

80

60

40

20

I

O_HT[HT|'|'|'|r-'H1"I”'|' I'I'rl1

120
APV channel




run_13094081 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD

Tue Apr 3 22:09:39 2012

[ ADC for FGT RDO=2,ARM=0,APV=17 |

&
[ 1000 2000 3000 4000

raw ADC

[[_ADC for FGT RDO=2.ARM=0.APV=18 |

3000 4000
raw ADC

[ ADC for FGT RDO=2.ARM=0.APV=19 ]
—

-ped

1000 2000 3000 4000

raw ADC

[ ADC for FGT RDO=2,ARM=0,APV=20

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0,APV=21 _§

3000 40(
raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=17
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

11r|1|r|1|[|1|r|1|r|]|r|1|r|1|[|1n-|1rr|

£
A
{

0

i
|

S
N
.
~

5

3

@

3

-

5

5

o

5

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=18 "}

= 4000 p—
] =
5 =
8 3500 =~ -~ - e
< =
3000 === - - - -
2500 = +|- - - - - -
=
2000 = - - - - - -
=
1500 f=r— |- - - - - -
=
1000 = +{- - - - - -
=
500 = -tt-
= A
e . :
= . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=19 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
d ==
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=0,APV=20 }
- 4000 p—
5] = . .
oo =
Q 3500 F=— EE TR T
< =
3000 - === seleee
2500 = P
2000 f=—y- === - - - B R
=
1500 f=—| e
1000 p=—|- - - - - - - BRI
=
=
500 =l - - nv - - s
=
[ e
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=21 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

R A R0 EBED.8 RO R .a

APV channel

10°

107

10

10

10




run_13094081 FGT MPV_1,Timebin=2,Disc=1,asmb=1CD
Tue Apr 3 22:10:59 2012

[ADC MPV for RDO=2,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=19 |

MPV (ADC-ped)

i i i i
20 40 60 80 100 120
APV channel

-500

MPV (ADC-ped)

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=21 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13094081 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD

Tue Apr 3 22:11:33 2012

[ADC RMS for RDO=2,ARM=0,APV=17 _}

g b
3 o
1) B e R R TR TP PR
a e
< B
%] T
= 100
x T
80 [
[ ]
60 f——
Py
40 f—
20 f—
—
0 1 1 1 1 1 1 1
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=18 "}

120

100

RMS (ADC-ped)

80

60

FEFTTTT

40

[ICEO XK
1T

20

Sl Sxoo
1 1

[ ADC RMS for RDO=2,ARM=0,APV=19 |

APV channel

120

RMS (ADC-ped)

100

80

60

40

'|'I'II]'I'I11{I'T_[II TTFITTITR

20

2 100 e
(& W
Q o
< [
< 80—
@ b
2 :
09 T
60 [
40 [+
[
20 |-
= i
0% 120

[ ADC RMS for RDO=2,ARM=0,APV=21 "}

APV channel

RMS (ADC-ped)

APV channel




run_13094081 FGT_ADC_1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 3 22:09:43 2012

[ADC for FGT RDO=2,ARM=1,APV=0 } [ ADC for FGT RDO=2,ARM=1,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1,APV=1 } [ ADC for FGT RDO=2,ARM=1,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=2 } [ ADC for FGT RDO=2,ARM=1,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=3 } [ ADC for FGT RDO=2,ARM=1,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1,APV=4 } [ ADC for FGT RDO=2,ARM=1,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




2BC

2,asmb

ISC=

=2,Di

IN=

00 2012

b

Ime
11

Tue Apr 322

0 1]

run_13094081_FGT_MPV_1,T

2,ARM=

[CADC MPV for RDO

APV channel
APV channel
APV channel
APV channel

120
120
120
120
120

=1 }
= |
=3 |}
= |

1,APV
1,APV
1,APV:
1,APV

2,ARM
LARM:
2,ARM
LARM

2
2

(pad-0av) AdW (pad-0av) AdiW (pad-Dav) Adi (pad-0av) AdW (pad-0av) AdiW

[ADC MPV for RDO
[ADC MPV for RDO:
[ADC MPV for RDO
[ ADC WPV for RDO

APV channel



run_13094081 FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 3 22:11:34 2012

[ADC RMS for RDO=2,ARM=1,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13094081 FGT_ADC_1,Timebin=2,Disc=2,asmb=2BC

Tue Apr 3 22:09:45 2012

[ADC for FGT RDO=2,ARM=1,APV=5 }

[ 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=1,APV=6 }

H
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=1APV=7 }
|

3000 4000
raw ADC

1000 2000

[ADC for FGT RDO=2,ARM=1,APV=8 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=1,APV=9 |

1000 2000 3000 40(
raw ADC

[ADC for FGT RDO=2,ARM=1,APV=5_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0 g
10

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=6 }

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500 g
10

'|1rl |r|1|[|1|r|1|r|]m |rm[|1|r|1m

0

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 fm=— g
= 10
=
o=
=
APV channel
[ADC for FGT RDO=2,ARM=1,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< = 10
3000 f=—
2500 =
2000 f=—
= 1
1500 f=—
1000 f=——
=
=
500 f=—
= 10"
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=9 "}

ADC-ped

4000
3500
3000
2500
2000
1500
1000
500

0 10°

APV channel




run_13094081 FGT MPV_1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 322:11:00 2012

[ADC MPV for RDO=2,ARM=1,APV=5__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=6 }

MPV (ADC-ped)

4 . . . i . . . i . . . i . . . i . . . i . . . i
£22h o 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=1,APV=9 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500 " " " " " " " " " " " " " "
20 40 ) a0 100 120

APV channel




run_13094081 FGT _RMS 1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 3 22:11:34 2012

[CADC RMS for RDO=2,ARM=1,APV=5__J

RMS (ADC-ped)

140

120

100

80

60

40

20

"""?]1'“

O-rlii-l'l'll‘l-l'l- IECOOXK]

i i
100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=6 }

RMS (ADC-ped)

120

100

80

60

40

20

H 8 2
[— . .
[— . .
= : :
i i i . i i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=7 }

RMS (ADC-ped)

120

100 f

i i i i i i i
0 20 40 60 80 100 120
APV channel

[CADC RMS for RDO=2,ARM=1,APV=8__}

RMS (ADC-ped)

140

120 [+
100 f—
80 f

60 |-

40

20

i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=9 "}

RMS (ADC-ped)

140

120

100

80

80 100 120
APV channel



run_13094081 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD

Tue Apr 3 22:09:49 2012

ADC for FGT RDO=2,ARM=1APV=12 _§

ADC-ped

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=1APV=13 _§

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=LAPV=14__§
—

i i i
1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=2,ARM=1,APV=15

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=1APV=16 _§

0 1000 2000 3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=L,APV=12_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

10°

© B A R A

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=13 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

10

< R A A

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=1,APV=14 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

10

aEldENRTERIAGNATGRAARNATGRARRIATENATRNATENAG]

20 40 60 80 100 120
APV channel

[[ADC for FGT

Py
]

0=2,ARM=LAPV=15_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

10

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
APV channel

[ ADC for FGT

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

10

APV channel




run_13094081 FGT MPV_1,Timebin=2,Disc=2,asmb=2CD
Tue Apr 3 22:11:01 2012

[ADC MPV for RDO=2,ARM=LAPV=12_}

MPV (ADC-ped)

1500 [+

1000 [5

500

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

[ i i i i i i
Q 20 40 60 80 100 120
APV channel
1 i i i i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=16 }

MPV (ADC-ped)

L—
1500 [
1000 [+

500 [+

-500

APV channel




run_13094081 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Tue Apr 3 22:11:35 2012

[ADC RMS for RDO=2,ARM=LAPV=12__}

1

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=1,APV=13 "}

5 E
& T
Q .
a T
< :
%] 0.8
2 E
3 :
06 [
0.4 |-
[
02 [
—
o . . i . . . i . . . i . . . i . . . i . . . i
0 20 20 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=14 "}

RMS (ADC-ped)

N N i
20 40 60 80 100 120
APV channel

220 f/—
200 |
180

RMS (ADC-ped)

160
140 E
120
100
80 E
60
40 E
=

H H H ;
® 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=16 }

35

3

RMS (ADC-ped)

25
5 oooo
15

1

0.5

20 40 60 80 100 120
APV channel

Oofﬁjjzljjﬁ[fﬂj;lllHITI'I1]1IHIHI‘I]1




run_13094081 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Tue Apr 3 22:09:53 2012

[ ADC for FGT RDO=2 ARM=1,APV=17 | [ ADC for FGT RDO=2,ARM=1,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=18 | [ ADC for FGT RDO=2,ARM=1,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ Apcfor Fet RDO=2ARM=1APV=19 | [ ADC for FGT RDO=2,ARM=1,APV=19 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=20 | [ ADC for FGT RDO=2,ARM=1,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1APV=21 || [ ADC for FGT RDO=2,ARM=1,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13094081 FGT MPV_1,Timebin=2,Disc=2,asmb=2CD

Tue Apr 3 22:11:03 2012

[ADC MPV for RDO=2,ARM=LAPV=17 J

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=1,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=1,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13094081 FGT _RMS 1,Timebin=2,Disc=2,asmb=2CD
Tue Apr 322:11:36 2012

[ADC RMS for RDO=2,ARM=LAPV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=19 |

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13094081 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC
Tue Apr 3 22:09:55 2012

[ADC for FGT RDO=2,ARM=2,APV=0 }

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=2,APV=1 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=2,APV=2 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=2,APV=3 }
!

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=2,APV=4 }

0 1000

2000 3000 4000

raw ADC

[ ADC for FGT RDO=2,ARM=2,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B L 0 L A LA L L] A i

APV channel

[ ADC for FGT RDO=2,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=2 "}
= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=— - -1
% =
3000 f=—---{-
=
2500 f=—- - - {-
=
2000 f=—-- 1~
=
1500 f=—---1{-
1000 f=—---1-
=
500 f=— - - {-
=
o—---1
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=2,APV=3 }
= 4000 p—
5] =
& =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 fm—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0

40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=2,APV=4

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

. .0 s d e A

10

10

10

10

10




run_13094081 FGT _MPV_1,Timebin=2,Disc=3,asmb=3BC
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run_13094081 FGT _RMS 1,Timebin=2,Disc=3,asmb=3BC
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run_13094081 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC
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run_13094081 FGT _RMS 1,Timebin=2,Disc=3,asmb=3BC
Tue Apr 3 22:11:37 2012
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run_13094081 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Tue Apr 3 22:10:01 2012
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run_13094081 FGT MPV_1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 3 22:11:04 2012

[ADC MPV for RDO=2,ARM=2,APV=12_}

MPV (ADC-ped)

FTTT
—e—
—
—e—]
—
:;':I
—

[ ADC MPV for RDO=2,ARM=2,APV=13 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 |+
[

0

-500

[ ADC MPV for RDO=2,ARM=2,APV=14 |

= 5
] 2
g 2
Q 1500 [+ g
< b
> 2
T + 2
< 2
1000 [ h
500 |+ o
of: :
500 = i

0 20 40 60 80 00 120
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

0

-500




run_13094081 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 3 22:11:37 2012
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run_13094081 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 322:10:08 2012
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run_13094081 FGT MPV_1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 3 22:11:05 2012
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run_13094081 FGT _RMS 1,Timebin=2,Disc=3,asmb=3CD
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run_13094081 FGT_ADC 1,Timebin=2,Disc=4,asmb=4BC

Tue Apr 3 22:10:14 2012
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run_13094081 FGT _MPV_1,Timebin=2,Disc=4,asmb=4BC
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run_13094081 FGT RMS 1,Timebin=2,Disc=4,asmb=4BC
Tue Apr 322:11:39 2012
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run_13094081 FGT_ADC 1,Timebin=2,Disc=4,asmb=4BC

Tue Apr 3 22:10:18 2012
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run_13094081 FGT _MPV_1,Timebin=2,Disc=4,asmb=4BC
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run_13094081 FGT RMS 1,Timebin=2,Disc=4,asmb=4BC

Tue Apr 3 22:11:40 2012
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